
U.P. BOARD CLASS 12 CHEMISTRY- 2018 

իत्त֒ प्रֈ֧֘  ֎֫र्ड շक्षा 12 ֚֒ा֑न विज्ञान-208 
374 (GB) 

֚֒ा֑न विज्ञान 
 (֚ा֐ान्֑ ն֒ էշा֎डवनշ ֚֒ा֑न) 

(շ֧िल ि֨ज्ञावनշ िर्ड ֆևा व्याि֚ाव֑շ व֘क्षा շ֧ ֌֒ीक्षार्ևड֑ों շ֧ वलए) 
 नट - ֌ूर्ाांշ: 35֐ֆीन घण्ट֧ 15 व :֑֐֚

 

वनֈे֘ զ प्रा֒म्֏ շ֧ 15 व֐नट ֌֒ीक्षार्ևड֑ों շ֫ प्रश्न֌त्र ֌ढ़न֧ շ֧ वलए वनर्ाडर֒ֆ ֛ैं। 
Instruction : First 15 minutes are allotted for the candidates to read the question paper. 

न֫टզ (1) ֚֏ी प्रश्न էवनिा֑ड ֛ैं। प्रत्֑֧շ प्रश्न շ֧ वनर्ाडर֒ֆ էեշ ի֚շ֧ ֚֐क्ष दֈए र्ए ֛ैं। 
(2) र्र्नात्֐շ प्रश्नों ंे֐ र्र्ना շ֧ ֚֐स्ֆ ֌ֈ ֈीविए। 
(3) प्रश्नों շ֧ प्रा֚եवर्շ իत्त֒ वलविए।  
(4) ि֛ााँ ըिश्֑շ ֛֫, ֒ा֚ा֑वनշ ֚֐ीշ֒र् ֈीविए। 
Note: (1) All questions are compulsory. Marks allotted to each question are given in the 
margin. 
(2)  

1. թ֚ प्रश्न շ֧ प्रत्֑֧շ िण्र् ंे֐ रा֒ विշप ֌ दֈए र्ए ֛ैं। ֛֚ी विշप ֌ रकनշ֒ ի֚ ֧է֌नी իत्त֒-֌कवस्ֆշा 
  वलविएզ ंे֐
(շ) ֧֚ल էव֏दि֑ा Zn+2Ag+→Zn2++2Agշा ֛֚ी प्रֈ֘डन ֛ ֨(1) 
(1) Ag | Ag+ | | Zn | Zn2+ 

(2) Zn | Zn2+ | | Ag | Ag+
 

(3) 2Ag | Ag+ | | Zn | Zn2+ 

(4) Zn | Zn2+ | | 2Ag | Ag+
 

(ि) ֐क्िन एշ շ֫लाթर्ी रू֌ ֛֫ֆा ֛ ֨ि֎ (1) 
(1) ि֚ा ֌र֒वक्षप्त ֛֫ֆी ֛ ֨िल (2) ंे֐ िल ֌र֒वक्षप्त ֛֫ֆा ֛ ֨ि֚ा ंे֐ 
(3) շ֧֚ीन वनलवम्֎ֆ ֛֫ֆा ֛ ֨िल (4) ंे֐ թनंे֐ ֚ ֧շ֫ժ न֛ीं।  
(र्) 2

4SO  प ֍֒ շी ऑक्֚ीշा֒շ էिस्ևा ֛।֨ (1)֚ ंे֐ 
(1) + 4 (2) + 2 (3) + 6 (4) - 6. 
(घ) ֐कक्त էिस्ևा ंे֐ ֌ाժ िान֧ िाली र्ाֆक ֛।֨ (1) 
(1) ֚֫ना (2) रााँֈी (3) շ֩֌֒ (4) ֚֫वर्֑֐। 
(र्.) XeF4 ंे֐ Xe ֌֒֐ार्क շा ֚եշ֒र् ֛ ֨(1) 
(1) sp3 (2) sp3d (3) sp3d2 (4) dsp3 
1. Answer all the parts : 
Four alternatives are given in each part of this question. Select the correct alternative and 
write it in your answer book : 
(a) The correct representation of the cell reaction Zn+2Ag+→Zn2++ is : (1) 

(i) Ag | Ag+ | | Zn | Zn2+ 

(ii) Zn | Zn2+ | | Ag | Ag+ 
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(iii) 2Ag | Ag+ | | Zn | Zn2+ 

(iv) Zn | Zn2+ | | 2Ag | Ag+ 
(b) Butter is a colloid formed when: (1) 
(i) fat is dispersed in water 
(ii) water is dispersed in fat 
(iii) suspension of casein in water 
(iv) none of these. 
(c) The oxidation state of sulphur in 2

4SO  is (1) 

(i) +4 (ii) +2 (iii) +6 (iv) – 6.  
(d) The metal found in free state is. (1) 
(i) gold (ii) silver (iii) copper (iv) sodium. 
(e) In XeF4, the hybridization of Xe-atom is (1) 

(i) sp3 (ii) sp3d (iii) sp3d2 (iv) dsp3 

2. (շ) ֏֬वֆշ էवर्֘֫֙र् एिե ֒ा֚ा֑वनշ էवर्֘֫֙र् ंे֐ ի֌֑कक्त իֈा֛֒र् द्वा֒ा էन्ֆ֒ स्֌ष्ट շीविए। 
(1) 
(ि) էष्ट֍लշी֑ ֚եշ֒ों շ֧ वन֐ाडर् շी व्याख्֑ा VBT दշ֚ प्रշा֒ շ֒ֆी ֛?֨ (1) 
(र्) रकम्֎շी֑ र्कर् िाल֧ է֑स्շों շ֧ ֚ान्रर् շी विवर् շा ֚եवक्षप्त िर्डन շीविए। (1) 
(घ) ल֧न्և֧नाթर् ֆत्िों շ֧ թल֧क्र֩वनշ विन्֑ा֚ वलविएզ (1) 
2. (a) Differentiate between physical adsorption and chemical adsorption with suitable 
example. (1) 
(b) How does VBT explain the formation of octahedral complexes? (1) 
(c) Describe in brief the method used in the concentration of ores having magnetic 
properties. (1) 
(d) Write the electronic configuration of lanthanide elements. (1)  

3. (շ) շा֒र् ֚व֛ֆ ֚֐झाթए दշ वनम्न էव֏दि֑ाओं ंे֐ շ֬न-֚ी էव֏दि֑ा ऑक्֚ीշ֒र् ֛ ֨ֆևा շ֬न-
֚ी է֌र֑न:  (1) 
Zn – 2e– → Zn2+ 
Cl2 + 2e– → 2Cl– 

(ि) वनम्न շ֧ ֚֏ी ֚ե֏ि ֚֐ाि֑िी ֎नाթए: 
1

2

1

2

1
  

(1) 2]24)3([ ClNHPt  

(2) 2
2 ][ BrIPdCl  

(र्) ‘֚प ्֑ूर֒շ էम्ल एշ वद्वक्षा֒ी֑ էम्ल ֛।֨’ թ֚ շևन շी व्याख्֑ा շीविए। (1) 
(घ) ֌֒ािֆडनी ֏ट्टी շा ना֐ाեदշֆ वरत्र ֎नाթए। (1) 
3 (a) Explain with reasons which one of the following reactions is oxidation and which 
one is reduction. (1) 
Zn – 2e– → Zn2+ 
Cl2 + 2e– → 2Cl– 
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(b) Draw all the possible isomers of the following : 1
2

1

2

1
  

(1) 2]24)3([ ClNHPt  

(2) 2
2 ][ BrIPdCl  

(c) ‘Sulphuric acid is a dibasic acid’. Discuss this statement. (1) 
(d) Draw a labeled diagram of reverberatory furnace. (1) 

4. (շ) (1) թल֧क्र֫र् वि֏ि շ֧ वलए नन्स्टड ֚֐ीշ֒र् वलविए ն֒ թ֚ंे֐ प्र֑कक्त ֚եշ֧ֆों շ֧ ना֐ वलविए। 
(1) 
(2) प्रև֐ շ֫रट շी էव֏दि֑ा շ֧ एշ वֆ֛ाժ ֚֐ा֌न շ֧ वलए प्र֑कक्त ֑֚֐ շ֧ वलए व्यեिշ प्राप्त շ े֒ं। (1) 
(ि) एन्िाթ֐ क्֑ा ֛ैं? रा֒ एन्िाթ֐ों շ֧ ना֐ वलिշ֒ իनշ֧ द्वा֒ा իत्प्र֧र֒ֆ էव֏दि֑ा֑֧ वलिें। (2) 
(र्) प्र֑֫र्֘ाला ंे֐ յि֫न र्֚֨ ֎नान֧ շा ֚वरत्र िर्डन շ े֒ं। յि֫न շ֧ ֈ֫ ऑक्֚ीշा֒շ र्कर् ֏ी 
वलविए। (2) 
(घ) व्याख्֑ा շ े֒ं क्֑ों էवर्շाե֘ ֚եि֐र् र्ाֆक֑ें ի֌֛֚֚ե֑֫िन ֑֬वर्շ ֎नाֆी ֛ैं ն֒ ֌र֒िֆडनी֑ 
֚ե֑֫िշֆा प्रֈर्֘डֆ շ֒ֆी ֛ैं। (2) 
4. (a) (i) Write Nernst’s equation for the electrode potential and name the symbols used 
therein. (1) 
(ii) Derive an expression for the time required for completion of one third of a first order 
reaction. (1) 
(b) What are enzymes? Name four of them and also mention the reactions they catalyse. 
(2) 
(c) Describe with diagram the laboratory preparation of ozone gas. Also write two 
oxidizing properties of ozone. 
(d) Explain why most of the transitional metals form coordination compounds and exhibit 
variable valency. (2) 

5. (շ) वनम्नवलविֆ ֚֐ीշ֒र् շ֫ ऑक्֚ीշ֒र् էեշ विवर् द्वा֒ा ֚եֆकवलֆ շीविए: (2) 
.22

32
72 OHICrHIOCr    

(ि) वनम्नवलविֆ շी व्याख्֑ा շीविए: (2) 
(1) ֆा֌֐ान र्कर्ाեշ  
(2) प्रև֐ շ֫रट էव֏दि֑ा। 
(र्) वनम्नवलविֆ ի֌֛֚֚ե֑֫िշ ֑֬वर्շों շ֧ IUPAC ना֐ वलिें: (2) 
(1) [Cr(H2O)4Cl2]NO3 

(2) K2[Ni(CN)4]. 

(घ) क्֑ा ֛֫ֆा ֛ ֨ि֎ ֍֩स्֍֚֫֒ շ֫- (2) 
(1) շावस्टշ ֌֫टा֘ विल֑न շ֧ ֚ाև र्֐ड շ֒ֆ ֧֛ैं? 
(2) नाթररշ էम्ल շ֧ ֚ाև र्֐ड շ֒ֆ ֧֛ैं?  
5 (a) Balance the following equation by the oxidation number method: (2) 

.22
32

72 OHICrHIOCr    

(b) Explain the following terms : (2) 
(i) Temperature co-efficient 
(ii) First order reaction.  
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(c) Write the IUPAC names of the following coordination compounds : (2) 

(i) [Cr(H2O)4Cl2]NO3 

(ii) K2[Ni(CN)4]. 
(d) What happen when phosphorus is- (2) 
(i) heated with caustic potash solution? 
(ii) heated with nitric acid? (2) 

6. विद्यकֆ ֒ा֚ा֑वनշ श्रर्֧ी क्֑ा ֛?֨ व्याख्֑ा շ े֒ं दշ वनम्नाեदշֆ էव֏दि֑ाएाँ ֚ե֏ि ֛ैं ֑ा न֛ीं: (3) 
(1) Fe շ֫ र्֐ड ֏ा֌ շ֧ ֚ाև र्֐ड շ֒ֆ֧ ֛ैं। 
(2) Cu շ֫ ֛ाթड्र֫क्ल֫र֒շ էम्ल ंे֐ ֒िֆ֧ ֛ैं। 
էևिा 
वनम्नवलविֆ ֌֒ ֚եवक्षप्त रटप्֌र्ी वलविए: (3) 
(1) ֚ी֚ा ֚եरा֑շ ֧֚ल 
 ानշ թल֧क्र֫र्֐ (2)
(3) विद्यकֆ է֌घटनी ֚ल֧। 
6. What is Electrochemical series? Explain whether the following reaction will take 
place or not: (3) 
(i) Fe is heated with steam 
(ii) Copper is kept in hydrochloric acid.  
OR 
Write short notes on the following : (3) 
(i) Lead accumulator cell 
(ii) Reference electrode 
(iii) Electrolytic cell.  

7. շ֚֨ ֧էव֏दि֑ा र्वֆ प्र֏ाविֆ ֛֫ֆी ֛-֨ (3) 
(1) էव֏շा֒շ ֚եշें रर् շ֧ ֌र֒िֆडन ֌֒? 
(2) ֆा֌ շ֧ ֌र֒िֆडन ֌֒? 
(3) իत्प्र֧֒շ շी ի֌वस्ևवֆ ֌֒? 
էևिा 
293 K ֧֚ 313 K ֆշ ֆा֌ ֌र֒िֆडन ֌֒ էव֏दि֑ा շी ֈ֒ रा֒ र्कनी ֛֫ िाֆी ֛ैं। էव֏दि֑ा շी 
֚եदि֑र् լिाड շा ֐ान ज्ञाֆ շीविए, ֑֛ ֐ानֆ֧ हुए दշ ֆा֌ ֌र֒िֆडन ֌֒ ֚दि֑र् լिाड շा ֐ान 
֌र֒िर्ֆडֆ न֛ीं ֛֫ֆा ֛।֨ (3) 
7. How is rate of reaction affected by – (3) 
(i) change in concentration of the reactants? 
(ii) change is temperature? 
(iii) presence of a catalyst? 
OR 
The rate of a reaction increases by four times when the temperature changes from 293 K to 
313 K. Calculate the energy of activation of the reaction, assuming that it does not change 
with temperature. (3)  
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